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( General )

( Introductory Macroeconomics )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x7=7
wars i e Tes i

(a) Define national income.

3B SR KR |

(b) What is effective demand? ‘
wfern oz & 2

(c) Mention one factor which affects the
propensity to consume.
TSIl SRTSIS ASH AR o1 T Ty
Rl

(d) Mention one motive behind the demand
for money.

Tur o1 RdRerR SfSern «b Sy # |
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(2)

-

{e) What is economic welfare?

AT e 5 2
{f) State investment multiplier.
Rt @ e 3411
(g) Define cost-push inflation.
T TGS JUPHIFeT ke fia |
2. Answer the following questions : - 2x4=8
wore fRA e B i
(a) How is net national income calculated?
o B A R AW T ?

(b) Mention two limitations of the classical
theory of interest.

r9 RIS ©GLOR o1 SRR Teard 41 |

( What is meant by consumption
function?

Boeerel T Jereal & T ?
(d) State Say’s law of markets.
&3 Ia RG34
3. Answer any three of the following questions : s
5x3=
wore fign e R e GRS i :

(a) Is national income a good measure of
economic welfare? Give reasons.

w8y W AT FAE @Bt O AR
T 7 IR iR T faan
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(3)

(b) Explain the effects of inflation on
production.

TR TS AP ST T |

(c) Discuss the relation between marginal
efficiency of capital and the rate of
interest.

ﬁmmmw%wm
IRECH! S 34 |

(d) Explain the relation between Say’s law
of markets and the classical theory of

employment.
@3 IR (R oF AEsR @ie Te1 T&s
T A F |

(e) Explain the relation between marginal
propensity to consume and investment
multiplier. . '
AT Beresrel arel o R @ e
STFCH! R 1|

4. Answer any three of the following questions :.
10x3=30
oo fial e 1 (e fofbr e fam -

(a) Discuss the various methods for
measurement of national income.

B w9 RiSw iz s
41
A9/841 { Turn Over)




(4)

(p) Explain the classical theory of
employment.

AR wczitre w9 arm 741 |

(c) E=xplain Keynes’ liquidity preference
theory of interest with diagram.

@I R SRAAS Tgeo! BT T=ES M
il

(d) Discuss the different measures to
control inflation.

TarPfS g Ria Sompmz sems 1 |

(e) Explain the measures to raise the
propensity to consume.

ToTSTal gl 3 TR SOTPTR I 4 |
() Define the following : 3+3+2+2=10
woTe fICarRd i for

(i) Marginal propensity to consume
2AfeF Befcs1el el

(i) Autonomous investment
TS Rivam

(iij) Liquidity trap
O] ¥

(iv) Average propensity to consume
TS TSI 27T

* k%

A9—20*/841 3 (Sem-2} ECO



